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Circle the best answer 
 

1. In an OHP one manipulates: 

(a) slides, 

(b) transparencies, 

(c) video, 

(d) resolution, 

(e) colour. 

 

2. ICT field is to some extent affected by: 

(a) obsolescence, 

(b) singularity, 

(c) schooling, 

(d) ageism, 

(e) audio-lingualism. 

 

3. Designing web pages becomes obsolete as a teacher skill because: 

(a) there are no web pages anymore, 

(b) even kids know how to do it, 

(c) teachers are too old to acquire it, 

(d) there’s no need to upload any content anymore, 

(e) there’re better ways to upload content. 

 

4. The main pedagogical advantage of ICT is: 

(a) novelty, 

(b) availability, 

(c) engagement, 

(d) virtuality, 

(e) cost. 

 

5. The learner’s task easiest to grade for a computer is: 

(a) multiple choice test, 

(b) read-aloud (ASR), 

(c) dictation (TTS), 

(d) syntactic transformations, 

(e) www quest. 

 

6. For an authentic, spoken, EFL communicative task a teacher could best choose: 

(a) Web1, 

(b) Google, 

(c) Moodle, 

(d) Facebook, 

(e) Second Life. 

 

7. Assigning an EFL writing homework, the teacher must reckon with: 

(a) NLP, 

(b) CMC, 

(c) VLE, 

(d) MMORPG, 

(e) MT. 

 

 

Best answers: 1b, 2d, 3e, 4c, 5a, 6e, 7e. 


